



Ph: 26995023/5913/5923, Email: aaos@nimhans.ac.in

NOTICE INVITING OBJECTIONS

Ref: STR-D3/CON/298/TAAB/NP/2019-20

4th January 2020

Sub: Purchase of "Electron Microscopy Reagents" for use in the Department of Neuropathology on Proprietary basis – Inviting comments thereon

The Department of Neuropathology has requested to purchase the following reagents for Electron Microscope Lab on proprietary basis from M/s. Aaryans International, Delhi the authorized distributor of M/s. TAAB, UK.

Sl. No.	Product Code	Items	Pack Size	Qty.
1	T634	HP TW Type 1 A/M Titanium	One each	04
2	W050	Dental Wax	500 gm	02
3	T640	HP TW Type 7 A/M Titanium	One each	04
4	S006	Sodium Cacodylate	500 gm	04
5	SD211/25	Toludine Blue O	25 gm	03
6	E009	Epoxy Resin CY 212 Kit TK 1	One kit	06
7	T341	Trufs for Boats 6.4mm	Pack of 500	05
8	GM014/C-100	Mextaform Grids HF 34 Cu	100 grids per pack	20
9	C267/100	Carbon Film 300 mesh Cu	100 grids per pack	01
10	M233	Eukitt Mounting Media	100ml	03
11	G002	Glutaraldehyde 25% EM	500ml	02

The notice is being uploaded for general information of prospective manufacturer / Authorized Distributor / Dealers to submit their Objection / Proposal / Comments, if any, on proprietorship of the items.

In case the product of any manufacturer / Authorized distributor / Dealer conforms to the above listed items with specifications, they may submit their proposal for the supply of the same along with documentary evidence. One quotation of the above items may also be submitted.

The objections / comments / proposal should be sent in sealed cover to the "Special officer (E), Purchase Section, NIMHANS, Hosur Road, Bengaluru – 560 029", so as to reach on or before 18.01.2020 (Saturday) up to 04:00 PM failing which it will be presumed that no other firm is interested to offer comments / protest / object and case will be decided on its merits.

The Reference No. STR-D3/CON/298/TAAB/NP/2019-20, Dtd. 04.01.2020 with due date 18.01.2020 should be superscribed on sealed envelope (Two cover – Technical: Cover A & Financial: Cover B).

Enclosures:

1. Proprietary item certificate from M/s. TAAB, UK certified by indenting officer.

2. Authorisation letter from M/s. TAAB, UK to M/s. Aaryans International, Delhi certified by indenting officer.

3. Quotation from M/s. Aaryans International, Delhi.

Special Officer (E)
Purchase section

Special Officer (E) विशेष अधिकारी (ई)

राष्ट्रीय मानसिक स्वास्थ्य और तंत्रिका विज्ञान संस्थान, बेगल्ह National Institute of Mental Health & Neuro Sciences, Bengaluru-560029.



PROPRIETORY ITEM CERTIFICATE

THIS IS TO CONFIRM THAT GOODS IN QUESTION as mentioned on our website www.taab.co.uk / hard copy of the catalogue submitted by our exclusive agent - M/s Aaryans International are the proprietary item of TAAB and specially designed for Electron Microscopy. No other substitute is available in the market as per best of our information. Prices are at par to the other Institutions in India and Abroad.

Terry Cooper, Managing Director **TAAB**

3, Minerva House, Aldermaston, Berkshire, England RG78NA. Tele: +441189817775; +441189817881 sales@taab.co.uk; www.taab.co.uk

Dated: 20.11.2019

Dr. YASHA T.C./ डॉ. यशा टी.स्त

Professor & Head / प्राध्यापक और मुख्य Department of Neuropathology / न्यूरोपयानीजी विभाग

NIMHANS / निम्हान्स Hosur Road / होसुर रोड, Bangalore / बेंगलूर- 560 029

बि.के. चन्द्रशेकर सागर

Professor/प्राध्यापक न्यूरोपथालोजी विभाग/Dept. of Neuropathology

NIMHANS / निम्हान्स / Hosur Road / होसुर रोड



TO WHOM SO EVER IT MAY CONCERNED

This is to confirm that

Aaryans International

H-14/8 Malviya Nagar, New Delhi - 110017.

Tele: 0 9911584630; 0 9599224630

aaryansint19@gmail.com GSTN 07AANFA3668D1ZF ISO 9001:2015

are our authorized exclusive distributor and stockiest for Indian region since 2006. This certificate is valid up to 31st December, 2020. Authorization details are also available on our website: www.taab.co.uk

Terry Cooper, Managing Director

TAAB 3, Minerva House, Aldermaston, Berkshire, England RG78NA.

Tele: +441189817775; +441189817881 sales@taab.co.uk; www.taab.co.uk

08th November, 2019

Dr. YASHA T.C./ डॉ. यशा टी.सी.

Professor & Head / प्राध्यापक और मुख्य Department of Neuropathology / न्यूरोपथालोजी विभाग NIMHANS / निम्हान्स

Hosur Road / होस्र रोड, Bangalore / बेंगलूर- 560 029

lucest Dr. B.K. Chandrasekhar Sagar

डा. बि.के. चन्द्रशेकर सागर

Professor/प्राध्यापक न्यूरोपथालोजी विभाग/Dept. of Neuropathology NIMHANS / निम्हान्स / Hosur Road / होसुर रोड Bangalore-580 029 / वेंगलर-560 029

Aaryans International

H-14/8 Malviya Nagar, New Delhi - 110017.

Tele: 0 9911584630; 0 9599224630

aaryansint19@gmail.com

GSTN 07AANFA3668D1ZF

MSME Registration No. DL08D0010803 ISO 9001:2015 ; IEC Code : 0507045505



Proforma Invoice / Quotation

Exclusive distributor for Indian Region

·T A A B ·

LABORATORY AND MICROSCOPY

Customer Name	The Head	Currency	Indian Rupees		
	Electron Microscopy - Common Research Facility,	Payment	Within 15 days after receipt of		
	Department of Neuropathology,		material through wire transfer. 9012909000		
	National Institute of Mental Health and Neurosciences,	Tariff No.			
		Delivery	NIMHANS Bangalore within 4-5		
	Dr. MH Marigowda Road, BENGALURU - 560029	,	weeks from receipt of order.		

Item	Product Code	Description	Pack Size	Qty	Cost each	TOTAL (INR)
1,	T634	HP TW Type 1 A/M Titanium	One each	04	2,998.00	11,992.00
2.	W050	Dental Wax	500 gm	02	1,337.00	2,674.00
3.	T640	HP TW Type 7 A/M Titanium	One each	04	3,512.00	14,048.00
4.	S006	*Sodium Cacodylate	500 gm	04	43,333.00	1,73,332.00
5.	SD211/25	*Toludine Blue O	25 gm	03	4,258.00	12,774.00
6.	E009	*Epoxy Resin CY 212 Kit TK 1	One kit	06	9,213.00	55,278.00
7.	T341	Trufs for Boats 6.4mm	Pack of 500	05	29,348.00	1,46,740.00
8.	GM014/C-100	Mextaform Grids HF 34 Cu	100 grids per pack	20	1,744.00	34,880.00
9.	C267/100	Carbon Film 300 mesh Cu	100 grids per pack	01	21,141.00	21,141.00
10.	M233	*Eukitt Mounting Media	100ml	03	4,295.00	12,885.00
11,	G002	*Glutaraldehye 25% EM	500ml	02	4,248.00	8496.00
					Sub-Total	4,94,240.00
			Hazardous Packing Charges			5,000.00
		Il prices are at actuals possibility of discount please.	Hazardous Freight Charges from England to NIMHANS Bangalore			40,000.00
	There is no	possibility of discount please.	Customs Clearance Charges			5000.00
		*Hazardous	Sub-Total			5,42,740.00
			IGST @ 5% with IGST Exemption Certificate			27,137.00
			Grand-Total			5,69,877.00

Aaryans International

Men S

Sudheer Kumar

Dr. YASHA T.C./ डॉ. यशा टी.सा

Professor & Head / प्राच्यापक और मुख्य Department of Neuropathology / न्यूरोपयालोजी विभाग

NIMHANS / निम्हान्स Hosur Road / होसुर रोड, Bangalore / वॅगल्स- 560 029 Dr. B.K. Chandrasekhar Sagar डा. बि.के. चन्द्रशेकर सागर

Professor/प्राच्यापक न्यूरोपथालोजी विशास/Dept. of Neuropathology NIMHANS / निम्हास/ Hosur Road / होसुर रोड Bangalore-560 029 / वेंगलूर-550 029

1 of 1